CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES BID TABULATION FOR:

TO SERVE ARTAVIA® SECTION 33

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS

JUNE 11, 2024

LJA ENGINEERING, INC. L. MARTINEZ

JUNE 11, 2024

1968-14033 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

1) KENNETH LAMB CONSTRUCTION CO., LTD. \$971.624.00

2) TMW LAND SERVICES \$999,492.00

\$1,028,820.00 3) TEXASITE, LLC

4) CROSTEX CONSTRUCTION, INC. \$1,044,000.00

5) BLAZEY CONSTRUCTION SERVICES, LLC \$1,087,922.20

6) R CONSTRUCTION CIVIL, LLC \$1,110,430.40

CALENDAR DAYS 45/55

BID OPENING DATE: BID OPENING LOCATION:

TABULATION BY:

LJA JOB NO.

TABULATION DATE:

I, Presley Lundquist, PE, hereby certifit these bid tabulations to be true and correct.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

MONTGOMERY COUNTY M.U.D. NO. 158 SANITARY SEWER ITEMS SUBTOTAL:

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 33 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JUNE 11, 2024 LJA ENGINEERING, INC.

L. MARTINEZ JUNE 11, 2024 1968-14033 (9.2)

LJA JOB NO.			1968-14033 (9.2)						
			1) KENNETH LAMB CC LTD		2) TMW LAND	SERVICES	3) TEXASIT	ΓE, LLC	
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
MONTGOMERY COUNTY M.U.D. NO. 158 WATER ITEMS									
1 8" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235 ALL DEPTHS, INCLUDES ALL FITTINGS AND VALVES (TEES, BENDS, TRACER WIRE, CONNECTORS, THRUST BLOCKS, REDUCERS, ETC), BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	2799	\$45.00	\$125,955.00	\$41.00	\$114,759.00	\$41.00	\$114,759.00	
2 FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIATE TEE, 6" GATE VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN PLACE	EA	7	\$5,628.00	\$39,396.00	\$6,200.00	\$43,400.00	\$6,323.00	\$44,261.00	
3 REMOVAL OF EXISTING PLUG & CLAMP (ALL SIZES), 2" BLOW-OFF VALVE & BOX ASSEMBLY, CONNECT PROPOSED 8" WATER LINE TO EXISTING 8" WATER LINE, ADDITIONALLY INCLUDES ALL NECESSARY ADAPTERS AND CONNECTORS, AND DISINFECTION OF EXISTING WATER LINE AS APPLICABLE, COMPLETE IN PLACE		2	\$499.00	\$998.00	\$500.00	\$1,000.00	\$638.00	\$1,276.00	
4 TRENCH SAFETY, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	2799	\$2.00	\$5,598.00	\$1.00	\$2,799.00	\$1.00	\$2,799.00	
MONTGOMERY COUNTY M.U.D. NO. 158 WATER ITEMS SUBTOTAL:				\$171,947.00		\$161,958.00		\$163,095.00	
MONTGOMERY COUNTY M.U.D. NO. 158 SANITARY SEWER ITEMS									
1 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' - 8' CUT, INCLUDES STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	244	\$32.00	\$7,808.00	\$32.00	\$7,808.00	\$39.00	\$9,516.00	
2 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' - 12' CUT, INCLUDES STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1408	\$34.00	\$47,872.00	\$33.00	\$46,464.00	\$43.00	\$60,544.00	
3 8" PVC SEWER PIPE, ASTM D-3034, SDR 26,12' - 16' CUT, WITH STANDARD BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1251	\$36.00	\$45,036.00	\$34.00	\$42,534.00	\$45.00	\$56,295.00	
4 STANDARD 4' DIAMETER SANITARY SEWER MANHOLE (0' – 10' DEPTH), INCLUDE: PLASTIC INFLOW PROTECTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLACE	S EA	6	\$3,471.00	\$20,826.00	\$4,300.00	\$25,800.00	\$2,888.00	\$17,328.00	
5 STANDARD 5' DIAMETER SANITARY SEWER MANHOLE (0' - 10' DEPTH), INCLUDES PLASTIC INFLOW PROTECTOR, PROTECTIVE INTERIOR COATING PER DETAILS, AND FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLACE	S EA	11	\$4,576.00	\$50,336.00	\$6,000.00	\$66,000.00	\$5,069.00	\$55,759.00	
6 EXTRA DEPTH FOR 5' DIAMETER SANITARY SEWER MANHOLE (OVER 10' DEPTH) COMPLETE IN PLACE), VF	25	\$345.00	\$8,625.00	\$280.00	\$7,000.00	\$289.00	\$7,225.00	
7 "FAR SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, RISER, STACK, DROP STRUCTURE, WYE, PLUG, MARKER, ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	E EA	12	\$3,048.00	\$36,576.00	\$3,700.00	\$44,400.00	\$3,436.00	\$41,232.00	
8 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS, ASTM D-2241, SDR 26, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BACKFILL, STACK WYE, PLUG, MARKER, ANY NECESSARY FITTINGS, ETC., COMPLETE IN PLACE	EA.	24	\$1,742.00	\$41,808.00	\$2,200.00	\$52,800.00	\$3,455.00	\$82,920.00	
9 CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 8 SANITARY SEWER LINE TO EXISTING MANHOLE, ALL DEPTHS, COMPLETE IN PLACE	B" EA	1	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,400.00	\$1,400.00	
10 ADDITIONAL COST FOR WATER AND SANITARY SEWER CROSSINGS, ALL DEPTHS, INCLUDES UPGRADE TO 18' SECTION FOR RESTRAINED JOINT AWWA C900 DR 18 PIPE FOR BOTH WATER AND SANITARY SEWER LINES WHERE APPLICABLE AND RESTRAINED JOINT FITTINGS, INCLUDES CEMENT STABILIZED SAND BACKFILL, COMPLETE IN PLACE	EA	3	\$200.00	\$600.00	\$1,000.00	\$3,000.00	\$100.00	\$300.00	
11 TRENCH SAFETY, ALL SIZES AND DEPTHS, COMPLETE IN PLACE	LF	3762	\$2.00	\$7,524.00	\$1.00	\$3,762.00	\$1.00	\$3,762.00	

\$268,511.00

\$336,281.00

\$301,068.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

COMPLETE IN PLACE

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 33 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JUNE 11, 2024 LJA ENGINEERING, INC.

2) TMW LAND SERVICES

LJA ENGINEERIN L. MARTINEZ JUNE 11, 2024 1968-14033 (9.2)

1) KENNETH LAMB CONSTRUCTION CO.,

3) TEXASITE, LLC

				LTD.					
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MONT	GOMERY COUNTY M.U.D. NO. 158 STORM SEWER ITEMS								
	18" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	331	\$62.00	\$20,522.00	\$72.00	\$23,832.00	\$68.00	\$22,508.00
	24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1960	\$83.00	\$162,680.00	\$86.00	\$168,560.00	\$83.00	\$162,680.00
	30° RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	544	\$103.00	\$56,032.00	\$110.00	\$59,840.00	\$104.00	\$56,576.00
	36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	188	\$146.00	\$27,448.00	\$150.00	\$28,200.00	\$143.00	\$26,884.00
	48" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	58	\$234.00	\$13,572.00	\$233.00	\$13,514.00	\$254.00	\$14,732.00
	54" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	122	\$334.00	\$40,748.00	\$336.00	\$40,992.00	\$329.00	\$40,138.00
	STANDARD PRECAST OR CAST-IN-PLACE MANHOLE FOR 42" STORM SEWERS AND SMALLER, ALL DEPTHS, INCLUDES FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLACE	EA	23	\$3,165.00	\$72,795.00	\$3,200.00	\$73,600.00	\$3,161.00	\$72,703.00
	STANDARD PRECAST OR CAST-IN-PLACE MANHOLE FOR 48" STORM SEWERS AND LARGER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	2	\$4,436.00	\$8,872.00	\$3,800.00	\$7,600.00	\$4,796.00	\$9,592.00
	STAGE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET ("C"), ALL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	EA	22	\$1,726.00	\$37,972.00	\$1,500.00	\$33,000.00	\$1,744.00	\$38,368.00
	STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST OR REINFORCED CONCRETE CAST-IN-PLACE (4,000 PSI) INLET ("C"), COMPLETE IN PLACE	EA	22	\$2,786.00	\$61,292.00	\$1,500.00	\$33,000.00	\$1,744.00	\$38,368.00
	TYPE "A" PRE-CAST OR CAST-IN-PLACE BOX INLET WITH EJ 6500 BEEHIVE GRATE, INCLUDES TEMPORARY GRATE PLUG AS NECESSARY, ALL DEPTHS, COMPLETE IN PLACE	EA	2	\$2,151.00	\$4,302.00	\$2,700.00	\$5,400.00	\$2,725.00	\$5,450.00
	CORE INTO EXISTING STORM SEWER MANHOLE AND CONNECT PROPOSED 54" STORM SEWER PIPE TO EXISTING MANHOLE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$1,600.00	\$1,600.00	\$856.00	\$856.00
	CORE INTO EXISTING STORM SEWER MANHOLE AND CONNECT PROPOSED 24° STORM SEWER PIPE TO EXISTING MANHOLE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$800.00	\$800.00	\$1,300.00	\$1,300.00	\$638.00	\$638.00
14	TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE PLACE	LF	3203	\$2.00	\$6,406.00	\$1.00	\$3,203.00	\$1.00	\$3,203.00
MONT	GOMERY COUNTY M.U.D. NO. 158 STORM SEWER ITEMS SUBTOTAL:				\$514,441.00		\$493,641.00		\$492,696.00
MONT	GOMERY COUNTY M.U.D. NO. 158 MISCELLANEOUS ITEMS								
	STABILIZED CONSTRUCTION EXIT, INCLUDING INSTALLATION AND MAINTENANCE, COMPLETE IN PLACE	EA	1	\$1,000.00	\$1,000.00	\$2,500.00	\$2,500.00	\$200.00	\$200.00
	UTILITY SPOILS (ESTIMATED QUANTITY OF 4,050 CUBIC YARDS) TO BE HAULED OFF-ROAD TO OFFSITE FILL AREA (NO MORE THAN 1 MILE ROUND TRIP), SPREAD, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, COMPLETE IN PLACE	LS	1	\$8,100.00	\$8,100.00	\$10,000.00	\$10,000.00	\$3,500.00	\$3,500.00
	STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEEKLY BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$1,200.00	\$1,200.00	\$1,308.00	\$1,308.00
4	FURNISH PERFORMANCE AND PAYMENT BONDS PER CONTRACT DOCUMENTS,	LS	1	\$1,000.00	\$1,000.00	\$23,000.00	\$23,000.00	\$25,615.00	\$25,615.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 33 $\,$

MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS

JUNE 11, 2024

LJA ENGINEERING, INC.

L. MARTINEZ JUNE 11, 2024 1968-14033 (9.2)

1) KENNETH LAMB CONSTRUCTION CO., 2) TMW LAND SERVICES

3) TEXASITE, LLC

				LTD.					
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	BILIZED SAND BACKFILL, (2.0 SACKS PER TON), (TO BE USED ION OF ENGINEER) COMPLETE IN PLACE	CY	1	\$15.00	\$15.00	\$15.00	\$15.00	\$15.00	\$15.00
LINES, ALL LINES SIZI THE ENGINEER), COM	TILITY LINES, ALL LINES SIZES AND WATERING FOR UTILITY ES AND DEPTHS, (TO BE USED ONLY AT THE DIRECTION OF IPLETE IN PLACED DEPTHS, (TO BE USED ONLY AT THE NGINEER), COMPLETE IN PLACE	LF	100	\$20.00	\$2,000.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
7 EXTRA WATER LINE F	FITTINGS, COMPLETE IN PLACE	TON	0.01	\$10,000.00	\$100.00	\$10,000.00	\$100.00	\$10,000.00	\$100.00
	E VALVE AND BOX, ALL DEPTHS, (TO BE USED ONLY AT THE NGINEER) COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
	E VALVE AND BOX, ALL DEPTHS, (TO BE USED ONLY AT THE NGINEER) COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00	\$500.00
	TE VALVE TO FINISHED GRADE AS REQUIRED (TO BE USED ION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00
	ITARY SEWER WET SAND CONSTRUCTION, ALL LINE SIZES USED ONLY AT THE DIRECTION OF THE ENGINEER),	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
	RM SEWER WET SAND CONSTRUCTION, ALL LINE SIZES USED ONLY AT THE DIRECTION OF THE ENGINEER),	LF	100	\$5.00	\$500.00	\$5.00	\$500.00	\$5.00	\$500.00
	SAND CONSTRUCTION UNDER MANHOLE, ALL DEPTHS, (TO IE DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$50.00	\$50.00	\$50.00	\$50.00	\$50.00	\$50.00
	NHOLE RIM ELEVATION AS REQUIRED (TO BE USED ONLY F THE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00
15 EXTRA HYDRO-MULC ENGINEER), COMPLE	H SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE TE IN PLACE	AC	1	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
16 EXTRA BROADCAST S ENGINEER), COMPLE	SEEDING, (TO BE USED ONLY AT THE DIRECTION OF THE TE IN PLACE	AC	1	\$450.00	\$450.00	\$450.00	\$450.00	\$450.00	\$450.00
	FILTER FABRIC FENCE, (TO BE USED ONLY AT THE NGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
18 EXTRA FILTER FABRI ENGINEER), COMPLE	C FENCE, (TO BE USED ONLY AT THE DIRECTION OF THE TE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
19 EXTRA BURLAP BAG OF THE ENGINEER), (BARRIER ON INLET, (TO BE USED ONLY AT THE DIRECTION COMPLETE IN PLACE	EA	1	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00	\$10.00
MONTGOMERY COUNTY M.	J.D. NO. 158 MISCELLANEOUS ITEMS SUBTOTAL:				\$16,725.00		\$42,825.00		\$36,748.00
BIDDING SUMMARY									
SUBTOTAL MONTGOMERY	COUNTY M.U.D. NO. 158 WATER ITEMS				\$171,947.00		\$161,958.00		\$163,095.00
SUBTOTAL MONTGOMERY	COUNTY M.U.D. NO. 158 SANITARY SEWER ITEMS				\$268,511.00		\$301,068.00		\$336,281.00
SUBTOTAL MONTGOMERY	COUNTY M.U.D. NO. 158 STORM SEWER ITEMS				\$514,441.00		\$493,641.00		\$492,696.00
SUBTOTAL MONTGOMERY	COUNTY M.U.D. NO. 158 MISCELLANEOUS ITEMS				\$16,725.00		\$42,825.00		\$36,748.00
TOTAL AMOUNT BASE BID					\$971,624.00		\$999,492.00		\$1,028,820.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 33 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JUNE 11, 2024 LJA ENGINEERING, INC.

5) BLAZEY CONSTRUCTION SERVICES, LLC

6) R CONSTRUCTION CIVIL, LLC

L. MARTINEZ JUNE 11, 2024 1968-14033 (9.2)

4) CROSTEX CONSTRUCTION, INC.

			4) CROSTEX CON	ISTRUCTION, INC.	3) BLAZET CONSTRUC	TION SERVICES, LLC	0) K CONSTRUCT	ION CIVIL, LLC
ITEM DESCRIPTION	U	NIT QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MONTGOMERY COUNTY M.U.D. NO. 158 WATER ITEMS								
1 8" PVC WATER PIPE, AWWA C-900, DR 18, CLASS 235 ALL DE ALL FITTINGS AND VALVES (TEES, BENDS, TRACER WIRE, C THRUST BLOCKS, REDUCERS, ETC), BEDDING AND BACKFIL PLACE	ONNECTORS,	F 2	799 \$40.00	\$111,960.00	\$42.00	\$117,558.00	\$42.00	\$117,558.00
2 FLUSHING VALVE UNIT, ALL DEPTHS, INCLUDES APPROPRIA VALVE & BOX, LEAD AND FLUSHING VALVE, COMPLETE IN P		:A	7 \$6,500.00	\$45,500.00	\$6,809.00	\$47,663.00	\$6,800.00	\$47,600.00
3 REMOVAL OF EXISTING PLUG & CLAMP (ALL SIZES), 2" BLOV ASSEMBLY, CONNECT PROPOSED 8" WATER LINE TO EXIST ADDITIONALLY INCLUDES ALL NECESSARY ADAPTERS AND DISINFECTION OF EXISTING WATER LINE AS APPLICABLE, C	ING 8" WATER LINE, CONNECTORS, AND	£Α	2 \$500.00	\$1,000.00	\$906.00	\$1,812.00	\$270.00	\$540.00
4 TRENCH SAFETY, ALL SIZES AND DEPTHS, COMPLETE IN PL	ACE L	.F 2	799 \$1.05	\$2,938.95	\$0.30	\$839.70	\$0.10	\$279.90
MONTGOMERY COUNTY M.U.D. NO. 158 WATER ITEMS SUBTOTAL:				\$161,398.95		\$167,872.70		\$165,977.90
MONTGOMERY COUNTY M.U.D. NO. 158 SANITARY SEWER ITEMS								
1 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' - 8' CUT, INCLU BEDDING AND BACKFILL, COMPLETE IN PLACE	JDES STANDARD L	.F	244 \$37.00	\$9,028.00	\$45.00	\$10,980.00	\$29.00	\$7,076.00
2 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' - 12' CUT, INCL BEDDING AND BACKFILL, COMPLETE IN PLACE	.UDES STANDARD L	F 1	408 \$41.00	\$57,728.00	\$48.00	\$67,584.00	\$33.00	\$46,464.00
3 8" PVC SEWER PIPE, ASTM D-3034, SDR 26,12' - 16' CUT, WIT BEDDING AND BACKFILL, COMPLETE IN PLACE	'H STANDARD L	.F 1	251 \$46.00	\$57,546.00	\$55.00	\$68,805.00	\$34.00	\$42,534.00
4 STANDARD 4' DIAMETER SANITARY SEWER MANHOLE (0' – 1 PLASTIC INFLOW PROTECTOR, PROTECTIVE INTERIOR COA AND FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLA	TING PER DETAILS,	EΑ	6 \$3,900.00	\$23,400.00	\$3,720.00	\$22,320.00	\$4,500.00	\$27,000.00
5 STANDARD 5' DIAMETER SANITARY SEWER MANHOLE (0' - 1' PLASTIC INFLOW PROTECTOR, PROTECTIVE INTERIOR COA AND FINAL ADJUSTMENTS AS REQUIRED, COMPLETE IN PLA	TING PER DETAILS,	EA .	11 \$5,900.00	\$64,900.00	\$5,715.00	\$62,865.00	\$7,500.00	\$82,500.00
6 EXTRA DEPTH FOR 5' DIAMETER SANITARY SEWER MANHOL COMPLETE IN PLACE	LE (OVER 10' DEPTH),	/F	25 \$500.00	\$12,500.00	\$473.00	\$11,825.00	\$515.00	\$12,875.00
7 "FAR SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEADS 26, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAND BA STACK, DROP STRUCTURE, WYE, PLUG, MARKER, ANY NECL ETC., COMPLETE IN PLACE	ACKFILL, RISER,	EA .	12 \$3,700.00	\$44,400.00	\$5,041.00	\$60,492.00	\$3,650.00	\$43,800.00
8 "SHORT SIDE" DOUBLE OR SINGLE 6" PVC PIPE SERVICE LE. SDR 26, (ALL DEPTHS), INCLUDING CEMENT STABILIZED SAN WYE, PLUG, MARKER, ANY NECESSARY FITTINGS, ETC., COI	ND BACKFILL, STACK,	EA .	24 \$2,300.00	\$55,200.00	\$2,275.00	\$54,600.00	\$2,200.00	\$52,800.00
9 CORE INTO EXISTING SANITARY SEWER MANHOLE AND COI SANITARY SEWER LINE TO EXISTING MANHOLE, ALL DEPTH PLACE		EA.	1 \$2,000.00	\$2,000.00	\$2,571.00	\$2,571.00	\$1,500.00	\$1,500.00
10 ADDITIONAL COST FOR WATER AND SANITARY SEWER CRC DEPTHS, INCLUDES UPGRADE TO 18' SECTION FOR RESTRA C900 DR 18 PIPE FOR BOTH WATER AND SANITARY SEWER APPLICABLE AND RESTRAINED JOINT FITTINGS, INCLUDES OF SAND BACKFILL, COMPLETE IN PLACE	AINED JOINT AWWA LINES WHERE	EA.	3 \$250.00	\$750.00	\$1,848.00	\$5,544.00	\$1,100.00	\$3,300.00
11 TRENCH SAFETY, ALL SIZES AND DEPTHS, COMPLETE IN PL	ACE L	.F 3	762 \$1.10	\$4,138.20	\$0.30	\$1,128.60	\$0.10	\$376.20
MONTGOMERY COUNTY M.U.D. NO. 158 SANITARY SEWER ITEMS S	SUBTOTAL:			\$331,590.20		\$368,714.60		\$320,225.20

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 33
MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158
CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS
JUNE 11, 2024
LJA ENGINEERING, INC.

LJA ENGINEERIN L. MARTINEZ JUNE 11, 2024 1968-14033 (9.2)

EGA GOD NO.		10	00 14000 (0.2)					
			4) CROSTEX CONS	TRUCTION, INC.	5) BLAZEY CONSTRUCT	TION SERVICES, LLC	6) R CONSTRUCT	TION CIVIL, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
MONTGOMERY COUNTY M.U.D. NO. 158 STORM SEWER ITEMS								
1 18" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEI AND BACKFILL, COMPLETE IN PLACE	DDING LF	331	\$66.50	\$22,011.50	\$66.00	\$21,846.00	\$75.00	\$24,825.00
2 24" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEI AND BACKFILL, COMPLETE IN PLACE	DDING LF	1960	\$79.50	\$155,820.00	\$82.00	\$160,720.00	\$94.00	\$184,240.00
3 30" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEI AND BACKFILL, COMPLETE IN PLACE	DDING LF	544	\$100.50	\$54,672.00	\$104.00	\$56,576.00	\$121.00	\$65,824.00
4 36" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEI AND BACKFILL, COMPLETE IN PLACE	DDING LF	188	\$138.00	\$25,944.00	\$144.00	\$27,072.00	\$165.00	\$31,020.00
5 48" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEI AND BACKFILL, COMPLETE IN PLACE	DDING LF	58	\$219.00	\$12,702.00	\$236.00	\$13,688.00	\$268.00	\$15,544.00
6 54" RCP STORM SEWER, ASTM C-76, CLASS III, ALL DEPTHS, INCLUDES BEI AND BACKFILL, COMPLETE IN PLACE	DDING LF	122	\$320.00	\$39,040.00	\$343.00	\$41,846.00	\$362.00	\$44,164.00
7 STANDARD PRECAST OR CAST-IN-PLACE MANHOLE FOR 42" STORM SEWE AND SMALLER, ALL DEPTHS, INCLUDES FINAL ADJUSTMENTS AS REQUIRE COMPLETE IN PLACE		23	\$3,600.00	\$82,800.00	\$3,078.00	\$70,794.00	\$2,800.00	\$64,400.00
8 STANDARD PRECAST OR CAST-IN-PLACE MANHOLE FOR 48" STORM SEWE AND LARGER, ALL DEPTHS, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE		2	\$7,200.00	\$14,400.00	\$5,533.00	\$11,066.00	\$5,250.00	\$10,500.00
9 STAGE I – STANDARD 5' REINFORCED CONCRETE PRECAST INLET ("C"), AL DEPTHS, INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, COMPLETE IN PLACE	L EA	22	\$3,000.00	\$66,000.00	\$2,443.00	\$53,746.00	\$2,100.00	\$46,200.00
10 STAGE II – STANDARD 5' REINFORCED CONCRETE PRECAST OR REINFORC CONCRETE CAST-IN-PLACE (4,000 PSI) INLET ("C"), COMPLETE IN PLACE	CED EA	22	\$900.00	\$19,800.00	\$1,754.00	\$38,588.00	\$3,050.00	\$67,100.00
11 TYPE "A" PRE-CAST OR CAST-IN-PLACE BOX INLET WITH EJ 6500 BEEHIVE GRATE, INCLUDES TEMPORARY GRATE PLUG AS NECESSARY, ALL DEPTH COMPLETE IN PLACE	S,	2	\$5,500.00	\$11,000.00	\$3,587.00	\$7,174.00	\$3,450.00	\$6,900.00
12 CORE INTO EXISTING STORM SEWER MANHOLE AND CONNECT PROPOSE STORM SEWER PIPE TO EXISTING MANHOLE, ALL DEPTHS, COMPLETE IN I		1	\$1,750.00	\$1,750.00	\$633.00	\$633.00	\$615.00	\$615.00
13 CORE INTO EXISTING STORM SEWER MANHOLE AND CONNECT PROPOSE STORM SEWER PIPE TO EXISTING MANHOLE, ALL DEPTHS, COMPLETE IN R		1	\$1,500.00	\$1,500.00	\$633.00	\$633.00	\$615.00	\$615.00
14 TRENCH SAFETY SYSTEM, ALL DEPTHS, COMPLETE PLACE	LF	3203	\$1.05	\$3,363.15	\$0.30	\$960.90	\$0.10	\$320.30
MONTGOMERY COUNTY M.U.D. NO. 158 STORM SEWER ITEMS SUBTOTAL:				\$510,802.65		\$505,342.90		\$562,267.30
MONTGOMERY COUNTY M.U.D. NO. 158 MISCELLANEOUS ITEMS								
STABILIZED CONSTRUCTION EXIT, INCLUDING INSTALLATION AND MAINTENANCE, COMPLETE IN PLACE	EA	1	\$2,000.00	\$2,000.00	\$1,980.00	\$1,980.00	\$1,500.00	\$1,500.00
2 UTILITY SPOILS (ESTIMATED QUANTITY OF 4,050 CUBIC YARDS) TO BE HAL OFF-ROAD TO OFFSITE FILL AREA (NO MORE THAN 1 MILE ROUND TRIP), SPREAD, AND COMPACTED TO 95% STANDARD PROCTOR DENSITY, COMP IN PLACE		1	\$16,200.00	\$16,200.00	\$15,356.00	\$15,356.00	\$24,000.00	\$24,000.00
3 STORMWATER POLLUTION INSPECTION REPORTS CONDUCTED ON A WEE BASIS ACCORDING TO TCEQ PERMIT, COMPLETE IN PLACE	KLY LS	1	\$750.00	\$750.00	\$1,513.00	\$1,513.00	\$1,100.00	\$1,100.00
4 FURNISH PERFORMANCE AND PAYMENT BONDS PER CONTRACT DOCUME COMPLETE IN PLACE	NTS, LS	1	\$9,733.20	\$9,733.20	\$15,090.00	\$15,090.00	\$25,000.00	\$25,000.00

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF WATER, SANITARY SEWER, AND DRAINAGE FACILITIES TO SERVE ARTAVIA® SECTION 33 MONTGOMERY COUNTY MUNICIPAL UTILITY DISTRICT NO. 158 CITY OF CONROE E.T.J., MONTGOMERY COUNTY, TEXAS JUNE 11, 2024 LJA ENGINEERING, INC.

L. MARTINEZ JUNE 11, 2024 1968-14033 (9.2)

				4) CROSTEX CONS	TRUCTION, INC.	5) BLAZEY CONSTRUC	TION SERVICES, LLC	6) R CONSTRUCT	TION CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
5 EXTRA CEMENT STABILIZED SA ONLY AT THE DIRECTION OF EN	ND BACKFILL, (2.0 SACKS PER TON), (TO BE USED NGINEER) COMPLETE IN PLACE	CY	1	\$100.00	\$100.00	\$45.00	\$45.00	\$50.00	\$50.00
LINES, ALL LINES SIZES AND DE	ES, ALL LINES SIZES AND WATERING FOR UTILITY EPTHS, (TO BE USED ONLY AT THE DIRECTION OF PLACED DEPTHS, (TO BE USED ONLY AT THE , COMPLETE IN PLACE	LF	100	\$40.00	\$4,000.00	\$25.00	\$2,500.00	\$40.00	\$4,000.00
7 EXTRA WATER LINE FITTINGS,	COMPLETE IN PLACE	TON	0.01	\$10,000.00	\$100.00	\$10,000.00	\$100.00	\$10,000.00	\$100.00
8 EXTRA 6" AWWA GATE VALVE AD DIRECTION OF THE ENGINEER)	AND BOX, ALL DEPTHS, (TO BE USED ONLY AT THE COMPLETE IN PLACE	EA	1	\$1,200.00	\$1,200.00	\$1,150.00	\$1,150.00	\$1,000.00	\$1,000.00
9 EXTRA 8" AWWA GATE VALVE / DIRECTION OF THE ENGINEER)	AND BOX, ALL DEPTHS, (TO BE USED ONLY AT THE COMPLETE IN PLACE	EA	1	\$1,800.00	\$1,800.00	\$1,703.00	\$1,703.00	\$1,500.00	\$1,500.00
	TO FINISHED GRADE AS REQUIRED (TO BE USED HE ENGINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00
	WER WET SAND CONSTRUCTION, ALL LINE SIZES LY AT THE DIRECTION OF THE ENGINEER),	LF	100	\$5.00	\$500.00	\$15.00	\$1,500.00	\$5.00	\$500.00
	R WET SAND CONSTRUCTION, ALL LINE SIZES LY AT THE DIRECTION OF THE ENGINEER),	LF	100	\$10.00	\$1,000.00	\$15.00	\$1,500.00	\$5.00	\$500.00
	INSTRUCTION UNDER MANHOLE, ALL DEPTHS, (TO ION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$250.00	\$250.00	\$500.00	\$500.00	\$50.00	\$50.00
14 ADJUST EXISTING MANHOLE RI AT THE DIRECTION OF THE ENG	M ELEVATION AS REQUIRED (TO BE USED ONLY GINEER), COMPLETE IN PLACE	EA	1	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00	\$150.00
15 EXTRA HYDRO-MULCH SEEDING ENGINEER), COMPLETE IN PLACE	G, (TO BE USED ONLY AT THE DIRECTION OF THE CE	AC	1	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,500.00	\$1,500.00
16 EXTRA BROADCAST SEEDING, ENGINEER), COMPLETE IN PLACE	(TO BE USED ONLY AT THE DIRECTION OF THE CE	AC	1	\$450.00	\$450.00	\$800.00	\$800.00	\$650.00	\$650.00
17 EXTRA REINFORCED FILTER FA DIRECTION OF THE ENGINEER)	ABRIC FENCE, (TO BE USED ONLY AT THE , COMPLETE IN PLACE	LF	100	\$5.00	\$500.00	\$2.15	\$215.00	\$1.00	\$100.00
18 EXTRA FILTER FABRIC FENCE, ENGINEER), COMPLETE IN PLA	(TO BE USED ONLY AT THE DIRECTION OF THE CE	LF	100	\$3.00	\$300.00	\$1.85	\$185.00	\$1.00	\$100.00
19 EXTRA BURLAP BAG BARRIER (OF THE ENGINEER), COMPLETE	ON INLET, (TO BE USED ONLY AT THE DIRECTION IN PLACE	EA	1	\$25.00	\$25.00	\$55.00	\$55.00	\$10.00	\$10.00
MONTGOMERY COUNTY M.U.D. NO. 18	58 MISCELLANEOUS ITEMS SUBTOTAL:				\$40,208.20		\$45,992.00		\$61,960.00
BIDDING SUMMARY									
SUBTOTAL MONTGOMERY COUNTY N	I.U.D. NO. 158 WATER ITEMS				\$161,398.95		\$167,872.70		\$165,977.90
SUBTOTAL MONTGOMERY COUNTY M	I.U.D. NO. 158 SANITARY SEWER ITEMS				\$331,590.20		\$368,714.60		\$320,225.20
SUBTOTAL MONTGOMERY COUNTY M	I.U.D. NO. 158 STORM SEWER ITEMS				\$510,802.65		\$505,342.90		\$562,267.30
SUBTOTAL MONTGOMERY COUNTY N	I.U.D. NO. 158 MISCELLANEOUS ITEMS				\$40,208.20		\$45,992.00		\$61,960.00
TOTAL AMOUNT BASE BID					\$1,044,000.00		\$1,087,922.20		\$1,110,430.40